@ 330a=3.3ha
® 540000 m? = 54 ha

B 1.7km?2 = 17000 a,

@ 20ha = 0.2km?

@ 6.1ha = 6100m?



@ 24000m? = 2.4ha
® 0.3km? = 3ha

3 3.6ha = 36000 m?2

@ 150a = 1.5ha

@ 24000a = 2.4km?
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@ 0.02km? @ 0.2ha ® 2000a

@ 20000 m? ® 2ha
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@ 0.3km? @ 0.3ha ® 300a

@ 3000m?2 ® 3ha



9kg - Dg

300g > @kg

58t =Qkg=®@g
4600g = 4.6kg = Ot

@® 90000 @ 0.03 ® 58000

@ 58000000 ® 0.0046
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BAPAG Y] Yol 2 BT Vet
@® 480000 m?

® 4800a

(3 4800000000 cm?2



720yl 3.2ha 9] oA & 5.6t & AFAIAIL, WHYE 4.5ha
o] =oll A & 7920 kg & AAABIAZUTE 1a T A4 o= o]
2 kg o BEU7E?

®© 72, 1kg @ AL, 0.1kg

® ¥4t 0.01kg
@ "It 1kg ® ", 0.1kg
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